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1. Solve
(−x−5y−21) 0
(−x−9y−33) 0

=
=

(i) (-5 -3), (ii) (-4 -3), (iii) (-6 -5), (iv) (-6 -3), (v) (-6 -4),

2. Solve
(4x−4y+5) 0
(−3x−3y−2) 0

=
=

(i) (( -2326 )
7
24 ), (ii) (( -78 )

7
22 ), (iii) (( -2324 )

7
24 ), (iv) (( -78 )

5
24 ), (v) (( -2326 )

7
22 ),

3. Solve
(4x+y−2) 0
(−4x−5y+4) 4

=
=

(i) ( 12 ( -12 )), (ii) ( 58 ( -12 )), (iii) ( 78 ( -32 )), (iv) ( 12 -1), (v) ( 78 -1),

4. Solve
(−5x−5y+4) (5x+4y+4)
(−3x−y+2) (−5x+2y+3)

=
=

(i) ( 516 ( -522 )), (ii) ( 16 ( -522 )), (iii) ( 16 ( -524 )), (iv) ( 516 ( -724 )), (v) ( 316 ( -524 )),

5. Solve
(−5x−11y+51) 0
(−10x+y−36) 0

=
=

(i) (-2 6), (ii) (-3 5), (iii) (-3 3), (iv) (-3 6), (v) (-1 6),

6. Solve
(3x−y) 0
(−x+4y+2) 0

=
=

(i) (( -211 ) (
-6
11 )), (ii) (( -213 ) (

-2
3 )), (iii) (( -213 ) (

-6
11 )), (iv) (0 ( -23 )), (v) (0 ( -811 )),

7. Solve
(−x−2y+2) (−4)
(2x−y+3) 5

=
=

(i) (2 2), (ii) (3 2), (iii) (5 -1), (iv) (3 1), (v) (5 1),

8. Solve
(4x+4y) (−3x−5y−2)
(4x+y+2) (−5x−5y−2)

=
=

(i) (( -813 )
10
39 ), (ii) (( -613 )

8
39 ), (iii) (( -613 )

10
37 ), (iv) (( -815 )

10
37 ), (v) (( -815 )

10
39 ),



9. Solve
(−4x−8y) 0
(−4x−4y−16) 0

=
=

(i) (-5 4), (ii) (-8 4), (iii) (-8 3), (iv) (-7 4), (v) (-8 2),

10. Solve
(−4x−4y−3) 0
(−4x+y) 0

=
=

(i) (( -120 ) -1), (ii) (( -322 ) -1), (iii) (( -320 ) (
-3
5 )), (iv) (( -322 ) (

-3
5 )),

11. Solve
(5x−5y−1) (−1)
(3x−5y+2) 4

=
=

(i) (0 -1), (ii) (-1 -1), (iii) (2 -2), (iv) (2 -4), (v) (0 -2),

12. Solve
(5x+y−3) (4x−y+3)
(3x−2y−3) (−5x+y+1)

=
=

(i) ( 2819
40
17 ), (ii) ( 2819

42
19 ), (iii) ( 43

44
19 ), (iv) ( 43

40
17 ), (v) ( 2619

44
19 ),



 1)	(iv)  2)	(iii)  3)	(ii)  4)	(v)  5)	(iv)  6)	(i)
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